
[7] y - x = C{y + x)3

[7] (3x + 2/^ = C(x - 2/)

[1] 2 (ex + e) = x2 - y2 + C

4

[6]x2+2/2 = C

[7] 2/-a;tan(ln

[8] (x + 2/ + 4)(4x + 2/ + 13)2 = C
[8] x - y - 3 = C(x + 2/ + I)3

[3] 2x2^ + x2 - y2 = C

[4] x3 + x2y = C

[2] x3 - x2y + 2x + 2^3

[3] 3x2^ + y3 = Ce~3x

[6] 2x3y + x2y2 = C

[7] xy + y2 = Cx3

[2] 3x3 + xy - x - 2y2 + C = 0

[2] ex sin y + 2y cos x = C

[1] ln|y| = x-21n(l + ex) + C
t  xdx  + f  ydy  = c

7 x + lnx  7 y + Inj/

[2] x3 + 3x^/ + 3^ = C

[3] x2 - 22/ = Ce22/

[1] x + ln|x +-+y-2\n\y\ = C
X

[6] 2/2 ^ -2(1 + x) + C(l + x)2

[4] x = 2/e^ + Ce3'

[7] 2 arctan - - In (x2 + y2) = C

[7] 2x4 + 4x32/ = C (x2 + 4x2/ + 22/2)

[2] x22/2 + 2xy = C
2[2] — - arctan ( •̂) ^ C

2/^^
[4] (lnx-2)2/=-3x2 + C

= C

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

n^ — ^/x^y2 "Ui^iamaofi ^ = 0

16.[3] sinx cos 2y - - sin2 x — C

17.[4] yy/l - x2 = x + C

18.[1] x2 + 3x + y2 - 1y = C

^

= 0

^^wa^aa

15.

14.

^ins ^/x (^2 + 0.1) Ui^atua^a^au8) (0,0)

13. a7il^nnnf)'^un1^!nln wwa^aa u

12.

a^8) anwnn i3uwaiaa)

(0,0)
= 0, y = -a;3 u

11.

ti^ 0 ad^htj

9. aluwaw^ati (tlian^i^i.^^l^^) nlmiiJ 0 ad)

10. Im^^uwawiaa mns y' = 0.5a;

y/y = 0.5|x|

8. Imfluwawiaa

3 admfi

x =

4.ifiwiai^aa (iaambatttati) fft^^)

5.i^^wiaiftaa (iaanib^illiYr^imiie^mia)

6.iiluwa^au (ienih^iil?iUi) ffUm^^ 1 ad)

7.

3.

1.iiluwaw^aa (iaaniraiilflUi) nl^)

2.alttwai^ati  (laa^baitlWUi8) m
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98.

99.

100.

(1)

(2)

(3)
IK (emmanaTnJTtnaun'naa'u mh 11,12)

y = 2 - e~x

z2
y =:—1 + z In z
y = -z2

y = -z~2cosz

y = tt

y = e2x - 2ex + 1

wm y = -2z ua:

[1] y2ey2~2x2 = C

[1] y = tan (-x2

[4] y = e2x + 1 + Ce

[1] ex + e~y = C

[4] xe2y = In \y\ + C

[1]
[2]
[3] ii
[4]
[1] ii
[4]
[6]
y = 0

1f e2x
xyJ x2

[1] y - sin(ln \x\ + C)
[7] {C + \nx)ey/x =-1

[1] y2 -2x- 2arctanz + C

[1] 3y2 -2x3 = C

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

1 +z
[l] y = Cx2

[4] xy = sin y - y cos y + C

[3] ex sin y + y2 = C

[1] y = Cxex

[4] xy = 1 + Ce~x

[4] x2y + cosz = C

[5] ztany = -z2 + C

[6] - =lnz + CM y

[2] x2y + xy2 + x = C

[2] x2 + xy - 3y - y3 = C

[2] x2y + x + y2 = C

[7] y + y/x2 + y2 = Cx2

[2] a;3 - 2xy - xy3 = C

[3]z3y2+zy3 = C

[6] x2 - y2 + 1 = Cey2

[-] (imniamimviiiawn)

[1] y3 + 3^ = a;3 - 3x + C

[4] 5z2y -x5 = C

[4] xy2^ln|y| + C
[4] y = -e2x + Ce3x

[1] siny = Ccsc2a;

50.

51.

52.

53.

54.

55.

56,

57,

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.[6]

78.[7]
v

79.[3] 2zy3 - 3y = Cx

[7] x + y^C

[7] y-xln\x\ +Cx

[1] (1 + y)e~y = (1 - x)e~x + C

[1] y + In \y\ = In | sec x\ + C
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